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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.

RANGE-QUERY PSEUDOCODE

2

G

E

3

X



A(2,3)

B(4,2)

C(4,5)

D(3,3)

E(1,5)

F(4,4)

0

1

2

3

4

5

6

0 1 2 3 4 5 6

A

1

G(1,1)

Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.

RANGE-QUERY PSEUDOCODE

2

G

E

3

X X



A(2,3)

B(4,2)

C(4,5)

D(3,3)

E(1,5)

F(4,4)

0

1

2

3

4

5

6

0 1 2 3 4 5 6

A

1

G(1,1)

Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.

RANGE-QUERY PSEUDOCODE

E 2

G(1,1)

3

X X

X

G

4

B



A(2,3)

B(4,2)

C(4,5)

D(3,3)

E(1,5)

F(4,4)

0

1

2

3

4

5

6

0 1 2 3 4 5 6

A

1

Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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Return if the current node is NULL. 
Return if bounding box does not intersect query rectangle. 
Check if the point belongs to the query rectangle. 
Go left. 
Go right.
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